
Термодинамические свойства 
азотнокислых растворов 

нитрата кальция 
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Модель раствора 

𝐺𝑒𝐺𝐿𝐶𝑀
𝑒𝑥 = 𝐺𝐺𝐿𝐶𝑀

𝑒𝑥 + 𝐺𝐷𝐻
𝑒𝑥 + 𝐺𝑀𝑅

𝑒𝑥

𝐺𝐺𝐿𝐶𝑀
𝑒𝑥

𝑅𝑇 𝑛𝑖𝑖
= 𝑥𝑖 ln

𝜙𝑖
𝑥𝑖

𝑖

+
𝑧

2
 𝑞𝑖𝑥𝑖 ln

𝜃𝑖
𝜙𝑖

𝑖

− 𝑞𝑖𝑥𝑖 ln  𝜃𝑗𝜏𝑗𝑖
𝑗𝑖

+ 𝑥𝑖 ln  𝑥𝑗𝜌𝑗𝑖
𝑗𝑖

 

𝐺𝐷𝐻
𝑒𝑥

𝑅𝑇 𝑛𝑖𝑖
= −
4𝐴𝑥𝐼𝑥
𝜌
× ln

1 + 𝜌𝐼𝑥
1 2 

 𝑥𝑖 × 1 + 𝜌 𝐼𝑥,𝑖
0 1 2 

𝑖

 

𝐺𝑀𝑅
𝑅𝑇 𝑛𝑖𝑖

=  𝐵𝑖𝑗 × 𝑥𝑖 × 𝑥𝑗
𝑗𝑖

,

𝐵𝑖,𝑗 𝐼𝑥 = 𝑏𝑖,𝑗 + 𝑐𝑖,𝑗 × 𝑒𝑥𝑝 𝑎1 × 𝐼𝑥 + 𝑎2 × 𝐼𝑥

𝑎1 𝑠𝑜𝑙 − 𝑖𝑜𝑛 = −1.2, 𝑎1 𝑖𝑜𝑛 − 𝑖𝑜𝑛 = −1, 𝑎2,𝑖,𝑗 =
0.25

𝑧𝑖 − 𝑧𝑗
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H2O – HNO3 – Ca(NO3)2 



8 



9 

•

•



Благодарю за внимание 
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